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Part | { 60 marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1,2, 3 or 4) on
the Optical Answer Sheet. L

1. Kennis observed 2 animals and vﬂmmmamm her ovwm_.ﬂcwmo:m.m:ﬁm table below.

i AnmalBii g
Yes
Eats plants -Not seen
Lays eggs - “No

Which of the following would be correct?

bl Butterfly Guppy

3 Sparrow Hamster

/\W ___ Cockroach Frog
Angelfish Platypus

Below are moammﬁmﬁmamamm..vocﬁrmncam:uo%mﬁﬁm:,.m. E:mo:oﬁ:m
following is incorrect? R :

Statern

B pLALGh ) i
1) Consists of blood vessels, blood and the heart.
2) Digestive | Digestive juices are present in the large intestine.
3) Respiratory | The windpipe connects the nose and mouth to the lungs.
4) Skeletal Works together with muscular system to enable movement.

(Go on to the next page)




3. Study the flowchart below.

- Does it | Isit Is it man-
float? Tlexible? " made?.
No

.‘
Poor conductor

of heat?

(Go on to the next page)




4. Peter wants to find out how fast a toy boat can sail when its sail:is made of

different materials: The size of the sails is Kept the same. He then set up the
following experiment. e o

4.
O T
> e, : Sail

fan

He turned on the fan and the wind generated moved the boat across the trough
filled with water. He recorded the time taken by the boat to travel across the
trough. The result of the experiment is shown in the table below.

Which material is more efficient at ‘catching’ wind during the mm.,_iu of m, boat?

19 R | 3) S
2 T 4 U

A-3 (Go on to the next page)
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8. - mm:Em_ Emam 8 Bmmm:_,m wmsh ouﬂ h*BmEmHm_. in oamﬂ 8 8_.2 oE a

: mxwm.._amﬁ.
<<_.=o: o_n Sm ﬁou_oé_:@ apparatus should he cmmu

1) 3)

100mi ﬁ

2) 4

Alan observed a celj under a microscope and made the *o__oi_:m ocmmEmH_o:m

A) lthas a nucleus.
By It has a cell wall.
C) it has cytoplasm
D) it has chloroplasts -

Which of the following could the cell be from?

Roots

Sterns
Bacteria

Flowers

{Go on to the next page)




7. Sammy placed a cup in the freezer for 2 hours. After 2 hours, he took it out and
“ poured some water at room temperature, which was 28°G, inte.it. She then.
- measuréd the temperature of the water after 5 minutes and found that its - .
temperature had dropped to 20°C. Sammy then wrote the following .
explanations based on the outcome of the experiment.

The cup gained heat from the water. .

Water gained coldness from the cup. .

The heat from the water was lost to the surrounding air. .

The coldness from the water was transferred to the surrounding air.

T

.

gow»

Which of the following oo_,«m.o% explains the ocﬁ.osm of the mx.vmm&m:ﬁ

L Aonly w% Band Donly -
2) AandConly # CandDonly

8. Which of the following arrangement(s) will enable both bulbs to light up?

K B B

u&/ A only . ~3]  Bonly
/\@ Aand C only 4 8 and C only

A-5 {Go on to the next page)



Erin was givén a circuit card and a circuit tester as shown Uum_.oé”.._izma one end
of the circuit test was clipped ontc B and the other end-to B; the bulb lighted up.

al

ﬁm.<m_‘mm sidelof the ab

ove circuit card. YWWhich
s were connected? e

The following diagrams show the
one correctly shows how the wire

1) 3)

2) 4)

(Geonto the next page)




10. Kirsten placed the same box on 3 différent suitaces and Using a spring balance,
measured the force needed to move the box, The results are shown in the table

below.

box

k _o:“.ﬁ balahce

Surface

Direction of pull
—

Given the above data, which of the following best represents L, M and N?

. mm:%_mnm_,

% | Polished wood Oiled glass
2) Oiled glass Sandpaper Polished wood
AR Sandpaper__. Qiled glass Polished wood
4) -| Polished wood Sandpaper Qiled glass
AT (Go m: to the next page)



: Im:Q used a 863 m“mmﬂ.n Umsa .o make m,im.aazu machine as:showri.in the
o aummqm_,: cm_oi o A S T IS

.|.

f : _ —]

30cm - < 'Length of elastic band

20cm =+

I ,  non-elastic string.
ruler| .. N 3 el y 9

} 10cm ] . 7}

empty vm:

e added di elastic bond
He added different Emﬁ:ﬁm to Em pan, ﬁoc:a out the extension of the spring
‘each time and u_onma a mqmvz

<<§o: graph shows :_.m results when the foad in the pan was increased?

b o
Extension of. “
Spring (cm). o C
elashic 1 .
bond 24+ <.
10
10+
0 Load (g) 0 Load (g)
rﬁw Extension of /\3, Extension of
mumz@ aé Spring-(cmy}
i&@m Fla mﬁ ‘ﬁ
barg froned ha e
14
0 . load(g) 0 Load (g)

A-8 {Go on to the next page)




12. Andrew carried out the experiment below. He rolled the:iron ball down the
~ “wooden plank and recorded the time taken for.the ball to travel from A fo M and

M.to V before and after object X was. placed below the ramp as-shown above.

The results were then tabulated as shown below. .

A

(seconc e (8
6.4 " B.2
58 , _ 127

VWithout object X
With object X

Which of the following could be a possible explanation for the difference.in the
.a_‘:m taken for the ball to travei from MtoV?

More gravity was acting on the ball resulting in.slower travelling time.
Object X was a magnet and was attracting the ball, resulting in slower
travelling time. . S S

. Object X was a magnet and was repelling the ball, resulting in faster

travelling time. _ : . - o :

/mo The surface of the ramp became rougher- with more revolutions resulting in

stower travelling time.

A-9 (Go on to the next page)



Am Lena inflated 4 similar balloons using an:air pump. After m:m had vcauma the
" balloons, she warited fo assess the mx_uﬁomzm force of each balloon by
measuring how loud the bursting was: Distance cmgmms the sensor and balloon
was kept the same for all the balloons.

a:am:@ Em mo::amm:moqi_.ﬂsamﬁm_onmmﬂ
balloon with a :

pin

balloon

Below is a table of the data she recorded.

What assumptions did Lena‘'make before her experiment?

A. The compression of air in the balloon affects the force it bursts with.
'Bs. The timing of the experiment will mmmoﬂ the _oc%mmm of the cm__oos |
: bursting.
C: The loudness of balloon bursting is qo_mﬂma to the explosiveforce of.
- the bursting balloon.
D: Distance between the balloon and sound sensor will affect the
accuracy of the sound measurement.

C only 8. A, CandDonly
. A, Band D only 4y A B, CandD

A-10 {Go on to the next page)




14. A bar magnetis broken into 3 parts as shown. below.

_ Which of the following is not possible when 2 pieces of the magnet are brought
together? :

1)

A-11 : (Go on to the next page)



15. Suzy turned a nail into an’electromagnet using the sét-up below. She Sm:
brought paper clips to test the strength of the magnetic force. She did this each

- time there is a change in the nuriber of amnm_._mm and coils. The table below
shows the result. -

20 4
40 4
20 6
8
6

20
40

Which of.the ,ao__o.zsm is ﬁrm most likely :Eucm_‘ of paper o_ﬁm attracted by the
electromagnet when there are 20 coils around it and 6 batteries were used?

11 X 23
\wm.a Mm 40

A-12 (Go on to the next page)




3%

16. Larry found that when he changed the way the hatteries were.arranged as

shown in the diagrams below, the poles of the electromagnet would be
ijﬁ._@m& . SRR o BN i

—
Tm——
—

it

End B : . EndV

m_mnﬁ_d.ammsmw.ﬁ B . - Electromagnet V

tlockwise coiling . clockwise coiling
. Setup:B R . Set-up V -

Larry found that when he changed the direction of the coiling around the nail the
poles of the electromagnet would be changed also.

I

—
———

l
i

.4 End E EndY
Electromagnet E Electromagnet Y
anti-clockwise ot . . anticlockwise
coiling coiling

Set-up E Set-up Y :

Larry tested one end of each electromagnet against ‘a bar magnet's South-
~gseeking pole.

Which of the following observations is possible?

ik f.h.m.”—i._o”..:h.v P ;. S
v& Attracted. Attracted .. Repelled i Repelled
~2]. Aftracted Repelled Aftracted Repelled
3% Repelled Repelled Attracted Attracted
W

Atftracted Repelled Repelled Attracted

A A-13 . {Go on to the next page)



17. Study the table bélow carefully.

Which of the following food webs oo:do% shows the food relationship Qﬂ the
oqum:_mam above?

% K L o u
S .xM | _Imwl_.v/m

J—

% S S
| ?\\\A | 7/:

P
s s«
18:  Study the food chain below.
F>G>H->L
Which of the following statements about the food chain is true?
1) His an omnivore while L is a carnivore.
'2)  Not all of G's energy is transferred to H.

'3)  The energy produced by F is destroyed along the way.
4) L gets most of the energy as it is at the end of the food chain.

19. Which of the following activities lead to global warming?

A: Deforestation C: Burning of fossil fuels .

B: Soil erosion D: Dumping chemicals into oceans
1)  AandBonly 7 3) BandConly
2) AandConly 4) CandDonly

A-14 (Go on to the next page)




20. Study the energy.conversion below.

 Electrical Light Sound Heat
energy energy energy energy

Chemical
energy

. -

The energy conversion shown above is most likely to be foundin a

;M&.....%:mao - W.A ceiling fan
% electric kettle o % mobile phone

21. A group of giris conducted the experiment below. They filled similar beakers
with various types of liquid of equal amount and shone a torch at them as
shown below. The two items were placed in a black box. A light detecting
datalogger was also placed in the black box. They recorded the results in the
table below.

Black box

datalogger
mount of light
3205
5850
500
2365 ]

Based on the results, which of the following best represent the 4 liquids?

# Mineral water - Orange Juice Tea Milo

Tea ‘Mineral water Milo Orange juice
e 4 Milo Tea Orange juice Mineral water
Wﬁ Orange Juice Milo Mineral water Tea

A-15 (Go on to the next page)



22. .wE% the set-up below.

AN

Distance X _._ Distance Y

[,

‘{Jk\

_Iﬂj_.\ (N

B ‘ Object

|

Screen

The lamp was switched on and a m_..,wa_o_s_ was mu.::ma on the screen. Keeping
the object stationary, the height of the shadow can be varied by moving the

lamp and-the screen. o

Which of the following awmﬁm:.o..mm will ,q__mwc: in the jongest shadow ﬂno_,z:&.._.w on the

screen?

A-18
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23. 5 friends had a short discussion on sm«ma&« mnmls.m.ﬁ_mw.mo:.. mm_oéémmscmﬁ
émm a_mocmmoa T -

?_\,:m.n o ..._ am_mmﬁw that H_._m _m:uﬁ: 9ﬂ a vmqwo: m :m__. om: cm inhérited.
Ben: No. The coiolr of the ifis can be vmmmmo. dovin from parénts to
young.
Candice: Yes. | agree with mm:. Just like smﬁmm high chegkbones, itis
iriherited.

Dennis: | disagree with mm: The length 2 ﬁom:m__m similar to smw length, is
passed down from parents fo young. -
Emma: }ihinkthe ﬁmsm.% of eyelashes is an _:smama characteristic.

S::o: of the oj_EB: are oo_._.moﬁ mcoﬁ smqmaéq

Car

PR

/\3\, "Anne,. wm: and Dennis-only

‘Ben, Om:a_om and Emma onz
23 2.5@ Om:aﬁm and mBBm o:_<

Ben, Om:aﬁm m:a Dennis only

V-

W,

24. Study the table ,vﬁ_cﬁ.

¥

Fruit S v

= Frut T | 4 _ k4

Which of the following pairs can Fruits Sand T be?

R Lady’s finger - Rubber
A Angsana L ove grass
i) Nipah Mango
4. |_Flame of the forest Durian
A-17 {Go on to the next page)



"25. Evelyn put up the 2 set-ups below. Both set-ups had a datalogger attached to
them detecting the amount of carbon dioxide in the airtight container. They were
placed in an area where natural light was available. She carried out the =
experiment for 24 hours. Then, she plotted a graph using the collected data.

mushroom

\

plant—|

LN
, . Carbon dioxide -
‘Set-up A detecting dataloggers

m@..»-:_u B

Which of the following graphs could Evelyn have plotted?

Y

&pm 12mn Sam 12nn - 6pm &pm 12mn 6am 12nn 6pm

Y

8pm 12mn Bam 12nn 6pm 6pm 12mn Gam i2nn 6pm -

A-18 {Go on to the next page)




26. Alice conducted an experiment as shown'below. She covéred her cup of hot
chocolate with a cup cover. She- fook the temperature of the hot'checolate
before and after the experiment. She repeated the experiment with 3 other cup
covers, each made: with a different material: I

Cup cover

‘,>:mm.§m<< that.in oa_m_q to have a fair H..mmﬂ she had fo identify E:.m,or <m:mc_mm

had to be kept constant. )
A: Material of cover D: AmBUmEE_,m of surrounding
B: Size of cup E: Duration of experiment
C: Initial temperature of hot
chocolate’

!

Which of the following correctly identifies the variables that must be kept

constant?
®. ACandEonly ¢ % B,C,DandEonly
B, C and D only % ABCDandE

A-19 (Go on to the next page)



27. Pauling just leamt about reproduction i
. the sequence of the processes involved: biut

reproduction in fiowering plants?

.. 52%.@&& is the correct mmn_cm:om o..wﬁ:m. p

.
.

d

n plants.She. has drawn 4 cycles to show
is unsure which is‘coirect.

rocesses ivolved in the'

pollination

-

fertilisation

N

o

%&; germination
TN
dispersal - fertilisation
| n_o__w:mmo: |
dispersal
SN
fertilisation A @m@_w:mmo..u

germination

- dispersal

pollination

pollination

i

fertilisation

2

1 germination

N

dispersal

e

(Goonto

the next page)
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28. June setup the following experiment in the Science laboratory. She warnted to
find out if the temperature inside the box is affected by the colour of its inner
walls. )

\ B 4 Temperature sensor

Aluminiurn box with inner

walls cotoured H \ i "
 — N

Datalogaing interface

F

The lamp was lit for 15 minutes and the ﬂmaumﬁmﬂcﬂm. inside the box was
recorded. He repeated the experiment using boxes of the safme size with
different cofoured inner walls. She plotted graphs using the data she collected.

Which of the following graphs best represent the results of June's experiment?

=
—F
L5
——
—p

Black

Temperature

Grey

_ Temperature

L
'o

White

B

L

Time Time
2) 4)
)..
g
2 2
[l o)
W @
m Grey m White
= ‘Black L Black
White — Grey
Time . Time

A-21 (Go on to the next page)



Temperature

4

29. Peter was given Substance S. The following graph depicts the changes
Substance S goes through.

\/

Referring to the above graph, which of the following correctly matches the states

of Substance 57

sk

TR jodiDE
Solid and Liguid s and Liquid
Solid and Liquid Solid and Liquid Gaseous
Solid and Liquid Solid (Gaseous
Solid Liquid Gaseous
A-22 (Go on to the next page)
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30. Look at the diagrams below.

{outdoor) - (indoor}-
C

{indoor) (indoor)

D

ice cubes

ice cubes

re correctly chosen to investigate the

Which of the following pairs of set-ups a
corresponding aim?

¢ fambar el
Find out if salt will speed up melting of ice
Find out if salt will slow down melting of ice

Find out if sunlight will speed up melting of ice
Find out if increased in temperature will speed up melting of ice

End of Booklet A

A-23






L]

SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
PRELIMINARY EXAMINATIONS 2010

NAME: . L () ' DATE:
CLASS: PRIMARY 6 ' Parent's Signature:
SCIENCE
BOOKLET B

Total Actual __sm_.xw T Total Possible Marks
Booklet A . . 60
Booklet B : 40
Total . 100

14 questions

40 marks

Total time for Booklets A & B: 1 h 45 min
DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

EOLLOW ALL INSTRUCTIONS.CAREFULLY.

ot i -



32 Ben wanted to test if the number of leaves affects the rate of water travelling up
the stem of plants. He was given the following items. .

* 0 o b

3 similar balsam plants

3 similar beakers

900m! of water containing red dye
scissors

In the table below, Ben wrote out the steps sm__m,.:oca take to carry ouk g fair
ﬁm.ﬂ._.Im had-used all the items. - o

RStrictions

Pour 300ml of water into the each beaker.

Cut al the leaves from 1% and 2™ plant. Leave all the ieaves on 3¢
piant. ,

Put each plant into each beaker and place the beakers on a table in
a room. )

Conduct the experiment for 7 days.

However, there is a mistake in one of the steps above. Underline the mistake
and-write the correct step that he should take below. 2]

B-2 (Go on to the next page)
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33. Below is an incomplete flowchart showing.the flow of _o._o_oa.S.Em,sc_ﬂmﬁ,_voa,\w...

a) (i) Draw arrows to show the correct flow of blood in the body
(it) Label the arrows with either *Qxygenated blood’ or ‘Deoxygenated blood’

o . 2l

-Other um:m — :
ofbody | heart. } lungs

*Oémm:mﬁmac_ogmmd_ooazorfoéom: E:m_mamoxém:mﬁmazooawc_ooa
rich in carbon dioxide. :

b) Jordan has just relieved himself and he is now feeling hungry. He buys himself a
plate of spaghetti and has it for lunch. The graph below shows the changes in
the amount of undigested food that passes from his mouth to the small intestine.

Oo_ﬂn_ma the graph below by drawing in the amount of undigested food that is
found in Jordan’s stomach, small intestine and large intestine. - - [1]

Amount of
undigested
food

f wcwmmm—— e m_ - — e " m . A==

i e mm e m = e = T TS

B 4

--.‘_..--..—..--f'-----w--—_—---—--—

Mouth Gullet Stomach Small Large
intestine intestine
B-3 (Go on to the next page,
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34.: m.En...s the-classification chiart below:" /"

S T
<l Animals:
~ BERRR e

1

S

_..

A

ca;J

C

D

-E

~
T.

Flamingo
Penguin

Man

Crocodile
Platypus

| Horse
Elephant

Spider
Scorpion

Moth
Beetle

a) gmﬁ sub-headings could W, X and Y be?

b)  State a difference in the life cycle of the animal<iin Groups C and E.

...E

(1]

(G on to the pext page)
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35. Polar bears are found in cold places. They have addptations in the form of
structural and behavioural characteristics that allow them to survive in such an
environment. :

,Em:m@mchoﬂcqm_mamvﬁmmo:mm:a‘mxv_mm: clearly why the polar bear will not
survive in a desert. . : o A

ti)

B-5 (Goonto the next page

Store




36. Study the food _Em.a shown below. s

Q o R

.

.
a}  In the food web above, o:o_m the food' producer(s). o [1]

b} Write out the longest food csm»: found in the abové Hﬂooa web. [1]

-

¢) Whatis the effect on P i there is a decrease in the population of Y?
Give 2 reasons for your answer. [2]

B-8 (Go on to the next page)
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37. Town'Piis'located at the downistréar of River Y. The focal ‘suthorities décided t6

switch.to a'more environment-friendly source of electrical efiergy. They builta
hydroelectric power station and a-dam across River Y at the upstream. Ever

. “since then, Town P has been getting its supply of electricity from this power

S..

station.

Below are graphs that depict the amount of rainfall experienced by Town P and
the river, and the amount of mm.moiomé. generated at the power station for a year.

4 1N

il

Amt of rainfali

e
LI

Amt of electricity-

generated

L

U F MAMUJJASONTD Months

State the relationship between the amount of rainfall and the amount of energy
generated. 1

Town P was hit by a a_d:@_# for 3 months. Explain how the amount of rainfall
affect the amount of electricity generated. ) [2}

B-7 {Go on to the next page)
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98. A group of hoys made 3 identical parachutes such as the ong-shown bejow.
~ They hung a box weighing 20g on one parachute,-a box.weighing,30g on the
second parachute and,a.box weighing 40g n the third-parachute: They-. .:
released the thrée parachuf es.at the same time from. the-second storey.of their

$chool.” They repeated their experiment and recorded the results in the table

below,
box
Parachute with 20g .
weight/box 79s _ , m.@w
Parachute with 30g a .
weight/box . 64s 62s . . '63s
Parachute with 40g | - , , | R
weight/box 49s B 50s . 50s

a) Why were 20g, 30g and A_om ?m_.@:ﬁ more suitable than dsing 19, 2g and 3g
weights in this experiment? [1]

b) Write the energy conversion from the time the parachute is released to thetime

it lands on the ground. (1]
¢) What can be concluded from the results of the experiment? | [1]
B-8 (Go on to the next page)
Score .




mm mEa< the Lee ﬂmB_G :mm below.

_s_,_,mm. Cn

o b -] -male
O,wﬂmSm_m

ﬂ
[
Kris -
. IcE_Bmm{ grandchildréen m_o_mw Mr Lee have? . - [%]
_ 3 5k -
Tim has 2 sisters. Indicate Tim with an ‘X’ on the family tree. (7]

The Bm_mm in Em Lee ﬁmB_E are affected by a rare a_mmmmm 4:0:@: Em a_mmmmm
aomw not-affect the ,ﬂmBm_mm they are ﬁ:m carriers.

A person E:o is a omq_mq QA a diseaseftrait has the genes omS\_:m ﬁsm
diseaseftrait in him/her but the diseaseftrait is not shown.in.hisfher appearance.

Explain how it is possible for Kris to be a carrier of this rare disease.. (1]

B9 (Go on to the next page)
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40. Samantha put up the 3 set-ups below. All the set-iips had similar plants and
250m! of water each but different hurnidity levels. She conducted the experiment

Set-up A Set-up B Set-up C
*Humidity : 90% Humidity : 29% _ Humidity : 57%

*Humidity is the amount of Emﬁ.wﬁ vapour in the surrounding.

At the end of 3 days, she presented her findings in the table below.

>q,=ﬂ ‘9« water in the beaker at
the end of 3 days
Mass of plant at the

235ml 202m|

beginning of experiment 350g 350g - 350g
Mass of plant at the end of
experiment 3259 343g wmm@L

a) What can be concluded about the relationship cmgmm:_ﬁsm humidity level and
the amount of water lost by plants through its mﬁ?mﬁm@ [2]

b)  Why will having a layer of oil to cover the water make it a fairer test? [2]

-

B-10 (Go on to the next page)
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41. Suzanne set up the following electric circuit.

B2 X

V, W and X are different materials. Identify the U:__om that wilt light- c_o in ﬁ:m
different situations below. [31

L Plastic Aluminium
o Ewmgmﬁ ruler foil
Aluminium 1. gonles Eraser
foil
Leather 10-cent Iron nail
strip coin
B-11 . {Go on fo the next page)
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42. A group of students conducted an experiment with'a shorea fruif which had 3
“wings”. They dropped the fruit from 3 metres above the ground. and recorded
the time it took to reach the ground. They repeated the experiment with the
same fruit but removed 1 “wing” each time they repeated the experiment.

. .m:o_.mm#ﬂm

.ﬂsmﬂmw_mcm_oim._._oémEm.aﬁmﬂm:mmx_u.mzamamE::Em::Bum_,of_ém:@m_,-
attached to the shorea fruit. .

Experiment | Number of “wings” attached
to the shorea fruit

A 3

B | I 2

G . 1

a) Basedonthe »mu\_\m\ above, arrange the results of Experiment A, B m:qowo:d
the fastest to the slowest. L e - il

b) qugﬁpcm,q. aph below to show the relationship Um"émm:.ﬁ:m.:cacmw of “wings”
and timgstaken for the fruit to reach the ground. . 1

Time taken (s)
A

. Number of “wings” attached
" to the shorea fruit

B-12  (Go on to the next page)
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43.-

s

. Recently, an oil spill occurred at the Guif of W. Some petrol had leaked out from
_aship that was. n_,m<m=5@ m_o:m the mcx The Qmmqm:._ below m:oim part. oﬁ the
" coastline of the Gulf 9n<< and where the oil spill :ma,.v oocqma o

Land. -

~ XA
: OC..ﬁﬂ-.ﬁ e

" Sk

b)

A B C D and E are organisms that live around the area as shown above. The
bargraph below shows the population of the organisms before and after the oil
spill.

No. of organisms
4 | Key:

spill

Y

T3 Population before

oil spill
]

¥4 Population after oil
Indicate in the right box on the graph, the bar graph that best represent the

e

population of Organism B. [1]
Explain the difference in the mmmaw of the oil spill on the vouc_mwo:m of
Organisms A and B. ) 2]

" B-13
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14, >_<mo: planted sore seeds and recordéd the mass of the seed _mm<mm and the

“average height of »:m plant. ._.:m Sw_m _om_oé m:oém ﬁrm Bmmm oﬁ Em mmma _mm<mm
of a seedling as it grows. _

1 5 : 0.5
3 3.5 2.5
5 2 - 4.5
7 05 G

3\ Explain the relationship between the mass of ﬁ:m_ seed leaves and the height of
the seedling. [2]

End of Booklet B
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Q17

o] 2| o3 Qa5 06 Q708 g lqio[oli|Qi2]Qi3[014[qQis] Q16
= 3

1 2 4 3 3 3 2 4 3 2 2 2 3 3

Q18 [ Q19 ] Q20 [ Q21 [ 0Q22[ 0231024 [ Q25 [ 026 [ Q27 [ Q28 [ 029 [ Q30

21 2[al213{3[afa{3{3]3[1]a

31)a)it was to find out if overcrowding affects the average height of the

seedlings.
b)1: Type of seeds used.  2: Type of soil.

32)Cut all the leaves from the 1** plant. Cut only a few leaves from the 2™
plant, and leave all the leaves on the 3" plant.

33)a)ji,ii) B
W  deoygenated vlocd
Other parts - /\
! of body heart lungs
ol?mmm 08 Phood
b) o %
Amount of i : ‘ :
undigested
food

ullet. . Stomach Small Largg
Mouth Bule intestine intestine
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Answer Key


34)a)W: 2legs  X: 4legs Y: More than 4 legs
b)There are 3 stages in the life cycle of the animals in Group C, while there
are four stages in the life cycle of the animals in Group F.

35)i)The thick fur will trap all the heat thus mznqmmm:._m the polar bear’s body
temperature beyond the normal range resuiting in the polar bear being over
heated. :

ii)Its black skin will absorb the heat very quickly thus increasing the polar
bear’s body temperature beyond the normal range resulting in it being over
heated.

36)a)X, P
b)P>W->Y->SO>R>VET
c)i)now only has limited number of Y to feed on when y’'s population
decrease thus S will feed more on P leading to a decrease in P’s population.
ii)Reduction in population of Y leads to an increase in population of W
which will result in decrease of P as W feeds on P.

wuuwv._,smEo.,marmmz_o::.no:mmsmm_rmrm30.6 nsmm.so::noﬁm_mnnznmg
generated. ) :

b)With minimat rainfall, the amount of water stored behind the dam will
be reduced/will be lesser and there is insufficient running water to turn the
turbines. This will result in a decrease in the amount of electricity generated.

38)a)The difference in resuits would be greater, so it easier to make a
comparison. ,

b)Potential energy->kinetic energy->sound energy + heat energy

c)The heavier the weight hung on the parachute, the shorter the time the
parachute takes to land. , .

39)a)3 grandchildren.
b) -

c)Kris’ father is affected by the rare disease. Kris inherited the genes from
her father, so she is-a carrier of the rare disease.
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40)a)The higher the humidity level, the more the amount of water lost by
plants through its stomata.

- b)Evaporation of water i
will be diff for all 3 set-ups.

s affected by humidity and the water evaporation

41) Mone
B, B3, B
Ri B2

42)a)C,BA
b) %

43)@a) 1 JC1B] .
b)Current move (and carry oil) towards B, but away from A. B will be
covered with oil and decrease in population/die buy not A. .

44)The seedling gets its food from the seed leaves as it grows. This resuits in

a decrease in the mass of the seed leaves but an increase in the height of the
seedling.
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